0002544455547999

‘00 iLLimERYAY 0—e—>

20

(D
(i)

(ii) (
(2

(3

(4

(®

18 4 T - fRfd - S0 55 11

1 | ROEHIZEZ

ROFHEEZE L.
1 _

fz

SROBRXP(x)=2+ax?+bxr—2»Nx—1TEVYNSG. £/, P(x) DEEK P (x) % x—3T
%”Jéc‘:, RUMITHD. Zorx, a=[ |, b= | Th3.

—7 <6< 70)9:_3? B8y = cos20 + 2sin@ OEAfEx [ | THD. TOLEDOIFE [ ]
Thb.

OA=(4, 0), OB=(0, —=3)Thb), u=~0,2), v=(~(1,1Thbdeds. £/, HPlEH3

E¥s, t & HNT

AP=su, BP=tuv

ERINDETHDLEND. 0L E, HPOEEE [ | THd. £/, WA APBQI FATIEK
ThdEOBMQOEREE [ | THD.
KOG E > TEEDEG {a,} 2EZ 5.

2
=10510, apy = (“1’6> (n=1, 2, 3, )

ZorLE, logpan = | THD. £z, ap OBBESOHBSHIOTE0MiEBR 2O, n= [ |
DEEITHD.




